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1. HEE IS [BWAY] - == 8 (H810xW4000-SB1S3)&EXI2AH "F2H'Y (HEX HIEH 72
N F= ®139.8X4.5tX2100 1 = 104,700 104,700 104,700 104,700
3Waydl 460x%3.2tx4330 1 & 231,000 231,000 231,000 231,000 [0IIE2 F= SHCE s (HEALE)
=SH0t=2 148x330x4.3T 11 M 25,600 25,600 25,600 25,600
=2 140x2t x20 11 M 2,400 2,400 2,400 2,400
HZULEEE S20121/M19%180[ 1N,2PW] 2| ME 1,600 3,200 1,600 3,200
DHEEE S20121/M18%40[1N,2PW] 2| ME 700 1,400 700 1,400
dYEABEE S2021/M16+33[1N,2PW] 12 HE 400 4,800 400 4,800
2A(KEHI) 373,100 - - 373,100 [2024.09 HeHJt2i P.264
X=4 X4l sEgog 0.038 | ¢ 219,321 8,355 219,321 8,355 |+EAEAT
2302 0.019 | ¢ 167,081 3,182 167,081 3,182 |+&EAT
gl €A Xl sEgog 0.114 | ¢ 219,321 25,065 219,321 25,065 |=Z&4EM2
202 0.057 | ¢ 167,081 9,547 167,081 9,547 |+E4&EM2
WS (20l 28 0.6m° 0.038 | hr 24,610 935 56,874 2,161 34,509 1,311 115,993 4,407 |JI2T0H, 2ZAEMS
HOE™ 2.5ton 0.095 | hr 6,846 650 48,742 4,630 6,169 586 61,757 5,866 |Jl=0iot2, +2AEA4
atEs oIAZ 9 5% 1 A 2,307 2,307 2,307 2,307
AAH(EXIHI) 3,892 52,940 1,897 58,729
Al 376,992 52,940 1,897 431,829
* 'm"e G} 431,829 |/ 4m = 107,958
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2. HHR(EEE [BWAY] HB10 =5 &) 4XI3A "HA'Y (HER HIEH 72 - 225 ¢
Xl F= ®139.8X4.5tX2100 0.5| = 104,700 52,350 104,700 52,350
=Y 140x2t x20 0.5/ M 2,400 1,200 2,400 1,200
SH0t2 148x330x4.3T 0.5/ M 25,600 12,800 25,600 12,800
ct2cde 460x965x3.2T 1 & 160,000 160,000 160,000 160,000
HAZUDE B/N S20121/M19%180[1N,2PW] 1| HE 1,600 1,600 1,600 1,600
NYEE S20121/M18%40[1N,2PW] 1| HE 700 700 700 700
dYEABEE S2021/M16+33[1N,2PW] 2| ME 400 800 400 800
AARIZHI) 229,450 - - 229,450
X==4 X Egolg 0.019 | ¢ 219,321 4,167 219,321 4,167
202 0.010 | ¢ 167,081 1,587 167,081 1,587
gl €A X sEgog 0.057 | ¢ 219,321 12,523 219,321 12,523
2302 0.029 | ¢ 167,081 4,778 167,081 4,778
WS (B0l L&) 0.6m® 0.019 | hr 24,610 467 56,874 1,080 34,509 655 115,993 2,202
HOE™ 2.5ton 0.048 | hr 6,846 325 48,742 2,315 6,169 293 61,757 2,933
atEs oIAZ 9 5% 1 A 1,152 1,152 1,152 1,152
2A(EXIHI) 1,944 26,450 948 29,342
Al 231,394 26,450 948 258,792
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3. HE(EEE [3WAY] H810 =58) X2 A "HA'E (HES HIZH 72 - Ay
Xl F= ®139.8X4.5tX2100 0.5| = 104,700 52,350 104,700 52,350
=Y 140x2t x20 0.5/ M 2,400 1,200 2,400 1,200
SH0t2 148x330x4.3T 0.5/ M 25,600 12,800 25,600 12,800
Al 460x865x3.2T 1 & 108,000 108,000 108,000 108,000 |Oti=s E= ENMEE It
HAZUDE B/N S20/21/M19%180[ 1N,2PW] 1| HE 1,600 1,600 1,600 1,600
NHEE S20121/M18+40[ 1N,2PW] 11 AME 700 700 700 700
dYEABEE S2021/M16+33[1N,2PW] 6| NE 400 2,400 400 2,400
A2 (RISHI) 179,050 - - 179,050 |2024.09 Ha}Jt2 P.264
X=4 X4l Egolg 0.019 | ¢ 219,321 4,167 219,321 4,167 |EET22 50%
230% 0.010 | ¢ 167,081 1,587 167,081 1,687 |EET2t2 50%
gl €A Xl sEgog 0.057 | ¢ 219,321 12,523 219,321 12,523 |EEF22 50%
2302 0.029 | ¢ 167,081 4,778 167,081 4,778 |EET22 50%
WS (B0l L&) 0.6m® 0.019 | hr 24,610 467 56,874 1,080 34,509 655 115,993 2,202 |EFET2t2 50%
HOE™ 2.5ton 0.048 | hr 6,846 325 48,742 2,315 6,169 293 61,757 2,933 |EFET2t9 50%
S7E= oI Z 9 5% 1) Al 1,152 1,152 1,152 1,152 |E&72+9] 50%
2A(EXIHI) 1,944 26,450 948 29,342
Al 180,994 26,450 948 208,392
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* H1SHE : 24D((EH0I01, 0.6m°, LHESJI0IH Z&)-"'AI2H'Y
Seraus 0.6m° 1 hr 25,681 25,680 25,681 25,680 | e o b o oo
CEERVES 0.6m’ 1| hr 8,829 8,829 8,829 8,829 |20 el e o
3R 0.001W% S 1.6 | 1,711 19,847 1,711 19,847 |2024.09 HeHt24 P.1451
e FHZO| 24% 0.24| A 19,847 4,763 19,847 4,763
HEIIH2HE A 0.208 2l 272,996 56,874 272,996 56,874 |[12I1FAlIZIxA O H 2=x5 X H 2==(1/8)x(16/12)x(25/20)
2 24,610 56,874 34,509 115,993
* N2 H : @I E2(2.5ton)-"'Al2H'Y
3R 0.001W% S 29| | 1,711 4,961 1,711 4,961 |2024.09 H2H2t2{ P.1451
e F129| 38% 0.38] A 4,961 1,885 4,961 1,885
StEX2 A A 0.208 | ¢l 233,960 48,742 233,960 48,742 |1LIIFAIZIA O SxF X i 4=(1/8)x(16/12)x(25/20)
A 6,846 48,742 6,169 61,757
* UG}
Sgo= 2024.9.101% 1 « - 219,321 219,321 219,321 219,321
gso= 2024.9.101% 1 « - 167,081 167,081 167,081 167,081
ALIHETA 2024.9.101% 1 « - 272,996 272,996 272,996 272,996
SIS XS H A 2024.9.101% 1 « - 233,960 233,960 233,960 233,960
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Sgole  (201+4m/840m+4 0.038
SE02  [101x4m/840m#4 0.019
Sgole  (401+4m/560m4 0.114
SE02  [201+4m/560m4 0.057
3 1CH*4m/840mx8 Al 2+ 0.038
1CH*4m/840mx8 Al 2+ 0.038

10 *4m/560mx8 Al 2+ 0.057
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